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1. Pipe A can fill a tank in 3 hours. But

there is a leakage also, due to which
it takes 3-5 hours for the tank to be
filled. How much time will the
leakage take in emptying the tank if

4. The distance between two points

(A and B) is 110 km. X starts
running from point A at a speed of
60 km/hr and Y starts running
from point Bat a speed of 40 km/hr

the tank is filled initially? at the same time. They meet at a
point C, somewhere on the line AB.

What is the ratio of AC to BC?
(b) 20 hours . fa) 3:2 o} 2:3

{a] 21 hours

(c) 18 hours fc) 3:4 (d 4:3

5. Ais thrice as efficient as Band hence
completes a work in 40 days less
than the number of days taken
by B. What will be the number of
days taken by both of them when
working together?

fa] 22-5 days

(d) 105 hours

2. A train takes 10 seconds to cross a
pole and 20 seconds to cross a
platform of length 200 m. What is
the length of the train?

(@ 50 m
(b) 15 days
(b} 100 m () 20 days
fc) 150 m (d) 18 days
{d) 200 m 6. If 10 persons can dig 8 feet trench in |

12 days, then how many days will
3, A Band C can do a piece of work 8 persons take to dig 6 feet trench?

individually in 8, 12 and 15 days {a) 10 days
respectively. A and B start working .
together but A quits after working (b) 10-25 days
for 2 days. After this, C joins and {c 11 days
works till completior? of the work. () 1125 days
In how many days will the work be

completed? 7. The height of a tree varies as the
8 square root of its age (between
(@) 3‘5 days 5 to 17 vears). When the age of the

tree is 9 years, its height is 4 feet.
What will be the height of the tree
at the age of 16 years?

{a) S feet 4 inches
(b} S feet 5 inches
e} 4 feet 4 inches
{d) 4 feet 5 inches

8
b) 5= da
{b) 9 ys
2
S5~ days
.(CJ 3 S

1
d] 6— da
(d) T ys
B-ABQB-N-LZS/1A 2
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1. TR A & 3 =t 3 92 § 5w R,

g 3 s fena oft R, R w2 h
F WA I 3@ 3-5 B0 T &) AR AW
Az v g€ R, @ fom & s A
@reft 81 1 e qwa om?

() 219w
(b) 20 TR
fc) 18 =w
(d) 10-59w

2. @ tand @ @ B om e A

10 B9vg ot & e 200m o
=THid B I FE d 20 FFvE F )
el i ovard T gt

faj 50 m
(b) 100 m
{¢/ 150 m
(d) 200 m

3. A, B 3 ¢ s et 7 =

FO9: 8, 12 3 15 R # qu & &)
A v B fimr @ 78 w0 &, g A
2 7 @ T & varq FW T W R
T 9UR ¢ offar @ g, S % R
v @ g fiem # w2 F
7 89 Fem fm wn

8
(a} saﬁﬂr
8
(b} 531%2#
2
c) 551‘2:

1
(d) Gﬁﬁﬁ
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4. A 5N (AR B)F T 110km H

T3 X3 AR 60 km/hr i I @
AT e F ¢ o Ih T v
B® 40 km/hr ! 9 ¥ e 0w
@ 21 3 ABWE w W g cw
fieTd 81 ACH BC® iqwia %1 87
@ 3:2 (b) 2:3

() 3:4 dj 4:3

5. A% 29 B R 1 T 8, Fa: felt &l

QW FA H A, B e T e A
TEn ¥ 40 fea =0 wma §) A @
e @ U w@ # B & e
(@ 225 f

(b) 153

fc) 20 %A

[d 18%A

6. 7R 8 e @E A @ ¥ 10 = H

12 2 @ &, @ 6 32wl A Ee #
8 =t = o fém o ?

(@) 10%=
(b} 1025 T
€ 11 F=
(d) 11257

7. fadl 3 A e | ay F FigE *

FTER weordt ® (5 ¥ 17 I9f F )
v Iz @ oy 9 3 3, @ wH I=n
4P Y 16T H AP TR A
0 = gnft?
@ ST+
(b} 5% 5%
(€ 44T
d) 4%25%
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8. The ratio of ages of Aand Bis 2 : 5

and the ratio of ages of B and C
is 3 : 4. What is the ratio of ages of
A, Band C?

12. A sum of money becomes 3 times in

S years at simple interest. In how
many years will the same sum
become 6 times at the same rate of

simple interest?

@ 6:15: 20

(b) 8:5:3 fa) 10 years
fc) 6.5:4 (b} 12 years
(@ 2:15:4 () 125 years

9. When an article is sold at 20% (@) 105 years

discount, the selling price is ¥ 24.
What will be the selling price when
the discount is 30%?

-18. A man buys 200 oranges for ¥ 1,000.
How many oranges for ¥ 100 can he
sell so that his profit percentage is

fa) ¥ 25 25%?
) T 23 (@) 10
€ 21 (b) 14
(d) ¥ 20 _ (c) 16
10. A shopkeeper sells his articles at (dj 20

their cost price but uses a faulty
balance which reads 1000g for
800 g. What is his actual profit

14. if m% of m+n% of n=2% of (m x n),
then what percentage of m is n?

percentage?
W 25% fa) S0%
(o} 0
B 20% (b) 75%
(+]
(c) 0% fc) 100%
(d) 30% (d) Cannot be determined duc to

insufficient data

11. The difference between compound
interest and simple interest for
2 years at the rate of 10% over
principal amount of ¥ X is ¥ 10.

15. If the side of a cube is increased
by 100%, then by what percentage
is the surface area of the cube

What is the value of X? increased?
fa) € 100 @) 150%
(b € 1,000 (b) 200%
(¢} ¥500 () 300%
fd) ¥ 5,000 | (d) 400%
B-ABQB-N-LZS/1A - 4
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8. A3 B&l wy & guE 2.5 ¥ @M

]

B ¥t CH Wy F T 3:4 Rl
A, B3 C R 3y = 3rqum 7 7
fa) 6:15:20

b) 8:5:3

fc 6:5:4

fd 2:15:4

9. va flt T F 20% A Fg W 3w 9w

3, @ e Rerg Fma ¢ 24 21 30%
T2 TN W I fosr e w1 wvl?

fa} ¥ 25
b} ¥ 23
e ¢ 21
d) ¢ 20

10. U6 SFEMIR A7 axgalt ®l IR o

g W A= 8, W 6 U Qe
H WM W@ R, N 800g F foU
1000 g zwid1 2| ot awafas wv-
A #a #7

fa) 25%

®) 20%

fc) 40%

d) 30%

11, T X & g@R W 10% A A 2 a6l &

. o T wRafy == st wuRw
e A € 10 H RN 3 X & AW
27

fa} €100

) ¥ 1,000

fc) ¥ 500

{d) ¥ 5,000
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12, 5 3 & g = W R Aot 3

2 9l B e = A g W W
it uofh fhee 9wt 4 6 TR B anefi?

fa) 10aW
() 12 T
(¢ 1257
{d) 10-5 ¢

13. &5 =1k 200 TR ¢ 1,000 # Giew 21

% ¢ 100 # fFam o o9 Tl ¢ di
IuEfl T -wfasear 25% &7

fa) 10
(b} 14
) 16
(d) 20

14. 4% m F m%+n | n%=(mxn) H

2% &, ™ n, m® foan fowa 27
fa) 50%

(b} 75%

(g 100%

(d) vatn siws) & o yia 48 Fn
N gl

15, 3k et o 6 o 100% Fer @ W, @

T OF [ gA%a fEe wfm s
oy

fa) 150%

(b 200%

(c) 300%

(d) 400%
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16. How many pairs of positive integers

m and n satisfy the equation

where n is an odd integer less
than 60?

fa) 7
(b) 5

fc) 4

(d) 3

17. The sides of a triangle are in the

ratio l:l:l. If its perimeter is
2 3 4

52 ¢m, then what is the length of
the smallest side?

fa) 9 cm
(b 10 cm
f¢) 11 cm

(d] 12 cm

18. The diameter of a metallic sphere is

6 cm. The sphere is melted and
drawn into a wire of uniform
circular cross-section. If the length
of the wire is 36 m, then what is
its radius equal to?

faj 01 cm
fhj 001 cm
fe} 0001 cm

(d) 10 em

B-ABQB-N-LZS/1A

19. Consider all those two-digit positive

integers less than 50, which
when divided by 4 yield unity as
remainder. What is their sum?

(a) 310
(b) 314
(c) 318
(d) 323

20. If every side of an equilateral triangle

is doubled, then the area of new
triangle becomes k times the area of
the old one. What is k equal to?

fa) 3
(bj
fe)
{d)

5« NN

21. f a,=3-4n then what is

@ +ay tdas +-+a, ecqual to?

_ n(n+1}]

1+2+3+4+-+n
2

{a) -n@n-3) (o) -ni2n-1)

¢} -n* {d) -n@2n+1)

22, A train travels at a speed of

40 km/hr and ancther train at a
speed of 20 m/s. What is the ratio
of speed of the first train to that of
the second train?

faj 2:1
by §:9
fcf §5:3
(d 9:5
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16. udwid QiR m 3 n & R gm

it

S

1 1
s =
m 12

F, TE n, 60 ¥ FW fwm gt R, Te
F &7
faj 7
() s
fc) 4

(d 3

17. Mﬁﬁﬁﬁ%:%:i%mﬁ

g1 ot ggw o 52 cm @, @ @@
T = i e 7 R

{a) 9 cm
{b) 10 cm
{c] 11 cm

{d) 12 cm

18. Tt wifes T =1 =99 6 cm 31 T T

o 3} TR WY APRY FR
TR T 0 F ' § df=onen ) Ak ar
# e 36m ¢, @ e A= e
F R 87

{a) 01 cm
() 001 cm
{c) 0001 ¢cm

{d) 10 cm
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19. 50 & 0 I ol i wms it

W fan fife, 2 IRk ¢4 @ wm R
ST, @ TR DEEA 1 B I M
27

{a) 310

{b) 314

(c) 318

(d) 323

20. R frft wwER B i TS g A

A R R oww, AR W
e T e & e W kT @

TR |k FH R
fa) J3
(b) 2
(c) 4
(d) 8

21, 7R a, =3-4n, @

Q) + @y +ag 4+ a, @ HA G

[1+2+ J+4 4+ +n= n{n;i)]

fa} ~nfdn-3) (b} -n2n-1)
() -n2 (d) -n2n+1)

22. TH @M 40 km/hr & I ¥ Fael ¢

adgi iﬁﬂm 20m/s # TF @
Terl Bl TEE W f 9 W ogEd
T $ ST ¥ e Y

fa) 2:1
(b} 5:9
fcg 5:3
[d 9:5
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23. (x+y}:(x-y)=3:5and xy = positive 27. What is the remainder when

imply that (1235x4523x2451) is divided by
127

{a) x and y are both positive
{a) 1

(b} x and y are both negative
(b) 3

{c) one of them is positive and one

of them is negative ) 5

fdj 7

{d) no real solutions for x and y
exist
28. What is the remainder when

24, How many pairs of X and ¥ are (1723 +2323 42923} i5 divided by 23?

possible in the number 763X4Y2, if

the number is divisible by 97 (a) O
(a) 8 b 1
(b 9 fc) 2
d) 3
(c) 10 (@
{d) 11 29, p, g and r are prime numbers such

that p<g<r<13 In how many
cases would (p+g+r) also be a

. . 1012 . .
25. What is the remainder when 4 is prime number?

divided by 7?

fa) 1
(a) 1
(b) 2
(b) 2
) 3
fc) 3
{d) None of the above
(d) 4
30. The LCM of two numbers is 90 times
26. What is the highest common their HCF. The sum of LCM and
factor of 2x3 +x2-x-2 and HCF is 14536. If one of the numbers
3x3 =222 4 x—27? is 160, then what is the other
number?
(@} x-1 (a) 120
(b) x+1 (b) 136
fc) 2x+1 c) 144
(dj 2x-1 (d) 184
B-ABQB-N-LZS/1A 8
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23. (x+y):(x-y)=3:5 M xy = oW, 27. (1235x4523x245) % 12§ ¥ W W

0§ F §7 e 77 &7
-(a} x 3Ry 3 & s fa) 1
(b) x ¥R y Nt & HoneTE § (b) 3
() FH Y TH 4F R A0 I A & @ s
FHUTCHE 2 ' d 7
[d x ¥ y % fou B afiw &=
feremm 7€ & 28. (1784232, 9By @ 3 dm AW
TS w87
24. GEw 763X4y2 # X o v ¥ bt gm (@ 0
e 2, IR wem 9 8 v &7
b 1
(a) 8 () 2
b} © @ 3
fc} 10
(@ 11 29. p, q R r | VAR B Ay derd §
& pcger<c13 ¥ forlt el &
IV T ?
25. 41012 3} 7 3 v A R Suwe 71 87 prqrr) e e
fa) 1
fa) 1
(b} 2
(b) 2
) 3
fc) 3
(d) 3w 3 A HE 3
() 4

30, 3 FEAsl F LCM & HCF &1 90 1

. 3.2 352y _
26. 2x74+x%-x-2 I 3x%-2x%4x-2 21 LCM 3k HCF @ am 1456 31 7R

TEEH RN 7 B9 % WET 160 2, ! g5t v w7
(@ x-1 (@) 120
o) x+1 B} 136
() 2x+1 c) 144
(@ 2x-1 (d) 184
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31. The LCM of two integers is 1237, 34, If ax+by-2=0 and axby =1, where

What is their HCF? a#0,b#0, then what is [a®x + b?y)
equal to?
{a) 37
(b) 19
(a) a+h
fc) 1
{d} Cannot be determined (v 2ab
32. What is
11 2b 4b> _ 8b’ e a®+b°
a-b a+b g?24+p2 a*+b* a®-b°
equal to? : [d a*+p?
laj a+b
(b} a-b 35. Consider the following statements :
fc) 1
1. {a-b=-c)is one of the factors of
{d) 0 3abec+ b2 +¢% ~a’.
33. A man rides one-third of the distance 2. (b+c- 1)is one of the factors of

from A to B at the rate of x km/hr
and the remainder at the rate of
2y km/hr. If he had travelled at a
uniform rate of 6z km/hr, he could
have ridden from A to B and back
again in the same time. Which one
of the following is correct?

3bct b3+ -1

Which of the above statements
is/are correct?

(@ z=x+y faj 1 only
(b} 3z=x+y _ () 2 only
(C) l = l + _1.
z x ¥y fc) Both 1 and 2
@) o=ts
2z d) Neither 1 nor 2
-+ B-ABQB-N-LZS/1A 10
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31. A yufst 1 LCM, 1237 81 3T HCF 34. TR ax+by-2=0 M axby=1, &

& 87 a#0, b0 @, M (a%x+b2%y) BAF
@ 37 TR 27
(b) 19
© 1 fa} a+bh
(d) Fuffe 3¢ B st e
(b} 2ab
32.
() a®+p3
| R N A -
a-b a+b g2 4+p? G44pt o8 -pB ) a%+b®
o s 37
(@) a+b
(b} a-b
c 1 35. Fafafes Fomt w R fifw
d 0 1. (@a-b-¢) 3abc+bd+c%-4d3
& TuEvEl & | T R

33. T W5 A ¥ B o B - g

2. - 3.03-1 %
xkm/hr 1 |} 7@ F@r ¢ o I (b+ec=-1), 3bc+b®+c” -1

g 2ykm/hr 1 W A W w@ ¥ R TS A R 0 R
98 6zkm/hr & THEAA T § I .
@, Q98 A A B aw N AR A 37wt A A B/ wh } /R
IR @ g A o wwar a1 Frefafm #
- 7
e fa) ¥aE 1
fal z=x+y
(b) z=x+ty b) ¥ 2
11,1
“ Z—x+y € 1 4R 22
@ =14l _
2z x y @) Id13RIH2
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36. 719-5'% j5 divisible by 38, What is the number of divisors

of 3607

(@ 10 fa) 12
) 18

() 7
e) 24

(e} 3 (d) None of the above

fd) 11 39, The multiplication of a three-digit
number XY5 with digit Z yields
X215. What is X+Y +Z equal to?

37. Consider the following statements (@ 13

in respect of four spheres A, B, C
and D having respective radii

6, 8, 10 and 12 cm : (b} 15
1. The surface area of sphere Cis fc) 17
equal to the sum of surface
areas of spheres A and B. (d 18

2, The volume of sphere D is

:?ualhto t'h; ;um ;fcvqumes 40. If the equation x2+2(1+k)x+k? =0
spheres an '
ol SPHer ’ has equal roots, then what is the

value of k?
Which of the above statements
is/are correct? {a) 1
2
{a) 1 only
1
=3
() 2 only
{c) Both 1 and 2 fe) 1
(d) Neither 1 nor 2 (d -1
B-ABQB-N-LZS/1A 12
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36. 719- 59 fFre g 27 38, 360 % Wi & wEn . 27

@) 12
(@ 10
b) 18
by 7
) 24
© 5 () ITT A | FE 7
(d 11
39. -3 w@n Xy5 # 9% Z % Ay
TREA X21581 X +Y + Z fras s
27
37. =W A, B, C 3t D # fiwm W @ 13
6, 8 10 3R 12cm &1 W =t &
g ¥ fFfeifias suat w frem iRy () 15
1. T C ¥ Y8 g, Tl A 3R © 17
B & Yfla dwett & A F T
d (d 18
2. TR D& A, Met A, B3l ¢
F AEA! & A & TR §
40, AR whew 2421+ k)x+k2 =0 &
WH I# &, 9@ kR oae R
I FA A ® FA-/ v 380
@
(a) Fae 1
b -3
(b) F=a 2 2
c) 13R 2 © 1
(d) 3@ 1 A2 (d -1
B-ABQB-N-LZS/1A 13 e PITRO |

https://www.pygonline.com



41. If m and n are the roots of 43. There are 48 cricket balls, 72 hockey
the equation xZ+ax+b=0, and balls and 84 tennis balls, and they

m? and n? are the roots of the have to1be arranged in several rows
in such a way that every row

equation x2-cx+d = 0, then which .

contains the same number of balls
of one type. What is the minimum
number of rows required for this to

of the following is/are correct?

1. 2b-a?=c happen?

2. p?=d (@ 12
(b 16

Select the correct answer using the

code given below. fej 17
(d) 19

fal 1 only

44, The HCF of two natural numbers

m and n is 24 and their product

(b 2 only is 552. How many sets of values of
m'and n are possible?

fcj Both 1 and 2 fa) 1

(k) 2

{d}] Neither 1 nor 2 ic) 4

(d) No set of m and n is possible
satisfying the given conditions
42. If N?-33, N -31 and N? -29 are
prime numbers, then what is the
number of possible values of

N, where N is an integer?

45, If m and n(m > n) are the roots of
. the equation

7+ 2a)? + 3a? = 5a(7x +23a)

faj 1 where a >0, then what is 3m-n
equal to?

(b} 2
fa) l2a

c 6 (b) 1l4a
e} 15a

(d] None of the above (dj 18a

B-ABQB-N-LZS/1A 14
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41, R WHFT x2+ax+ b= 0% o m 3k

n & A T x?-ex+d = 0 F @

m? i n? @ @ Pkt 3 @
FR-T1/A A 287

1. 2b-g?=¢

2. pl-4g

I feg Mo W owWm W T I
T

(a) Fad 1
(b) =Id 2
() 13 2a=H

(d Fd 12

42, IR N?-33, N2-31 @ N?-29

AU TEE §, d@ N geid am
e €, sl v @& ot 27

fa) 1

b} 2

fc) 6

(d) I R A A

B-ABQB-N-LZS/1A
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43, frde il 48 Tat, 7R N 72 W i

i A 84 T =2 ot F 3wy
TR w0 R 6 as iR 7§ uh gew
H 1 oA = 0 F | W T QA R
& Tt & ¥ e smaves A
il ot e aa 27

fa) 12

(b} 16

lc) 17

(d 19

44, A Qe §& m 3 n T HCF, 24 2

AR I PAEA 552 Bl m M n F
A % e ag=g woE 87

fa) 1
fo) 2
fc) 4

@ & % T A EgE T F T
m 3 n T F TR wova T R

45. TR m IR n(m > n) itFEw

T(x +2a)? + 3a? = Sa{7x +23a)

F A E, @ a>08, a@ 3m-n fred
aEL 27

fa) 12a
(b) l4a
¢} 15a

(d) 18a

S8 TP T.O.
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46, A person selling an article for ¥ 96 49, What is the lowest common
finds that his loss percent is multiple of ab(x? + 1)+ x{a? + b?)
one-fourth pf the amount' of rupees “and ablx? - 1+ x{a? - b2)?
that he paid for the article. What
can be the cost price?

faj (a®x? -B2)(a+bx)
(aj ¥ 160 only

(b} ¥ 240 only

fc) € 160 or ¥ 240 (o) {ax* -b?)(a+bx)?

{d) Neither ¥ 160 nor ¥ 240

(c] (a2x2—b2]{a—bx]
47. If (x+k) is the common factor of
x? +ax+b and x2+cx+d, then

what is k equal to?

2.2 _p2yin_ 2
(@) (d-b)/lc-a) (d (@“x* -b*)a- bx)

L ]
{b] (d-blfia-c)

(¢} {d+b)/{c+a) 50. A certain number of two digits is

three times the sum of its digits. If
digits will be reversed. What is the
“sum of the squares of the two digits

) ; of the number?
48, What is the remainder when

x5 - 5x2 £ 125 is divided by x +5?

(@) 41
fa) 0
(b) 45
(b) 125
) -3125 e 53
(d} 3125 (d) 64
B-ABQB-N-LZS/1A 16
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46, UF =i fhelt sxg 91 96 % 3=a ¢ ok 49. ab(x? + 1)+ x{a? +b2) 3t

urar 3 6 3w wf-nfmm w9 g T 2 2_p2
ab{x* -1)+ -b Bl
% e gord o e s 2 R
TR T H R e 27
(o) F9d ¥ 160 (o) {a®x? -b?)(a+bx)
fb) *a@ € 240
(c) €160 & 240 ®) (a?x? -b2)(a+bx)?

fd) A7 160 3T € 240

€ @2x?- b?){a- bx)

47. R x? +ax+b AN x2+cx+d'm"rmif
TS (x + k) §, & k fred woa 81
{d) (@®x? -b2)(a- bx)?
(@) {d-b)/{c-a)
(bj [d-b)/ia=c)

{¢/ d+b)flcta)
50. 3 3w H P GEW IEF oW F am A

(d) {d-b)/c+a) 1 T {1 9R @ g A 45 e wm,
T e IEfe @ | s F A
3T & 3 e w1 R7

48. R x° - 5x2 +125 9 x + 5 ¥ RRm

famn sy, < e 7@ ¥7 (@) 41

fa) O b 45

b) 125
{c] 53

fe) -3125

(d) 3125 (d) 64

B-ABQB-N-LZS/1A 17 {P.T. 0.
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51. If from the top of a post a string 54. If 0<0<X

then what is
twice the length of the post is

stretched tight to a point on the Y1-2sinBcos® equal to?
ground, then what angle will the
string make with the post? (a) cosb -sind
@ n/6
{b) sinB -cosb
b n/4
fc) Sm/12 {¢} t{cos8-sind)
(d) n/3

{(d} cosfsinb

52. The price of a commodity increased
by 5% from 2010 to 2011, 8% from

2011 to 2012 and 77% from 2012 §6. If tga“e“g’te =2;1 t“;e“ what s
to 2013. What is the average price sin¥+cost equal to
increase {approximate) from 2010 )
to 2013? () 5
(a) 26%
l
(b) 32% b 3
fc) 24%
() 2
(d) 30%
. . . (dj 1
83. A railroad curve is to be laid on a
circle. What radius (approximate)
should be used if the track is to
change direction by 25° in a . secx
distance of 120 m? 36 What I ey Coual to?
faj 300 m (a) sinx
(b} 280 m (b)] cosx
fc) 275 m {c) tanx
(dj 264 m {d) cotx

B-ABQB-N-LZS/1A 18
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‘51 =R fd @ A wend @ g a W 54. TR 0<9<43, A JI-2sin6cost

# @ % i & voow & fRd g w .
wER dr 9, @ um e ¥ | fories w17
febe v g

fa} cosB-sind
(@) n/6

(b} sin@ - cosH
(b} m/4

{c] #{cosB-sin0)
fc) 5S5n/12

{d} cosBsiné
{d nj3

55, IR tan®+cotB=2, T sind+cosbd
52. Tt o 6t g § 2010 ® 2011 7= T
5%, 2011 ® 2012 % 8% a1 2012

R 2013 T 77% H Iy o 81 2010 1
& 2013 7 3fwa HAma Fhe (IEEAE:) @ 3
c2 iR

26% 23
(a) b -
(b) 32%
(¢) 24% (c) 2
(d) 30%

(@ 1

53. u& temn! g% frel 99 W fawmn s )
- Tl Frem (s ot I wifi
AR temet | 120 m 3@ F 25° R 56. —— > fres e

Tewh 27 cotx +tanx
(a) 300 m {a) sinx
(b) 280 m {b) cosx
fc) 275 m {¢/ tanx
‘
{dj 264 m {d) cotx
B-ABQB-N-LZS/1A 19 | P.T.0.

https://www.pygonline.com



57. From a certain point on a straight 59. What is
road, a person observes a tower in
the west direction at a distance of "
200 m. He walks some distance (sin
‘along the recad and finds that the
same tower is 300 m south of him. equal to?
What is the shortest distance of the
tower from the road?

2

x -co0s? x){1-sin? xcos? x)

{a) sin? x-cos? x
300

()

m

Q

(b) sin® x-cos® x

b 2=
{)mm | .

fc) cos® x-sin® x

© m s s

(dl sin® x —cos” x

(d) ——=m

58. What is SPX 708X+ 1 al to? 60. What is

sinx+cosx -1

(sinxcos y + cos x sin y)

o) === 1 (sin xcos i - cos xsiny)
cos X
equal to?
sinx+1
(6] cOS5 X (@) cos? x-cos?y
{b) cos? x - sin? y
sinx -1
fc)
cosx+1
fc} sin? x - cos? Y
sinx+1
() cosx+1 {d) sin? x-sin?y
B-ABQB-N-LZS/1A 20
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57. #iy At & €Y 72w & fFt @& fag @ 59. (sin? x —cos? x}(1 -sin? xcos? x)
Tt wfiam @1 ufiw fem & 200 m $t @ e Tt 37
W g ¥ 9F 2 W 6eE W
TR ® e g 6 oad dm R i
fm % 300m H g w R Afm A

wgd & Wy gl 7 87

4)5*-0054 £

fa} sin
300
J13 6 6

(b} sin” x-cos” x

()

500
rb} ﬁ m

(@) cos® x-sin®x

600

fc) vk

{d) sin® x - cos® x
{d] — m

60. (sinxcosy+cosxsiny)
(sinxcos y - cos xsin y)

g 7 27
8. s%nxrcosx+lm%m%?
sinx+cosx-1
. fa) cos? x-cos?y
. sinx-1
(a)
cos X
‘ 2 .2
co5“ x —sin
(b) sinx+1 (b) Y
coS X
g Snx-1. (¢) sin? x-cos?y
cosx+1
(d sinx +1 2 2
cosxr1 (@) sin® x-sin“y
B-ABQB-N-LZS/1A 21 RO
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61. What is 66. What is the number of pairs of

(14 cotx - cosecx) (1 + tan x + sec x} perpendicular planes in a cuboid?

equal to? fa) 4

fa) 1 (b} 8

(b) 2 ‘ (c) 12

fe) sinx {d) None of the above

(d) cosx
62. What is 67. How many equllalte'm.l triangles can

. be formed by joining any three

[cosecx — sin x){sec x - cos x){tan x + cot x) vertices of a cube?

equal to? (@ 0

{e} sinx+cosx b 4

b) sinx-cosx

{b) © 8

fcj 2

@ 1 - {d) None of the above

63. Consider the following statements :

: ) For the next two (2) items that follow :
1. sinl®>sinl

2. cosl®<cosl ABCD is a trapezium in which ABis paralle]
Which of the above statements to CD. Let M be the midpoint of BC.

is/are correct?
68. Consider the following statements :

(@) 1 only )

1. 'Area of triangle ADM + Area
(b} 2 only of triangle DCM’ is equal to
¢! Both 1 and 2 three-fourth of the area of

trapezium ABCD, if AB=CD.
2, ‘Area of triangle DCM + Area of

{d) Neither 1 nor 2

64. If sinx+cosecx =2, then what is triangle ABM’ is always greater
sin® x +cosec? x equal to? than half of the area of
trapezium ABCD.
(o) 2 (b} 18 pe
i h
() 512 @ 1024 }‘jr’hach of the above statements
is/are correct?
65. If sinx+cosx=p and
sin® x +cos® x = g, then what is fa} 1 only
p3 - 3p equal to? (b) 2 only
(@ 0 (b) -2q {c) Both 1 and 2
(e} 2g (d} 4q {dj Neither 1 nor 2

B-ABQB-N-LZS/1A 22
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61. (1+cotx -cosecx)(l+tanx +secx)
forereh TR 77
(@ 1
) 2

fc} sinx
{d) cosx

62,

(cosecx - sin x)(sec x ~ cos x){tan x +cotx)
exeeticd i
(o) sinx+cosx
b} sinx-cosx
fc) 2
fd) 1

63. Mwufigd seHl W fe=m Sifew

1. sinl>sinl

2. coslP<cosl

37 el # | FR-W/H we 3/37
fa) FA1

(b) T 2

fe) 1 3R 23M

[d Aa@1aad2

64. 3 sinx+coseex=2 ¢,
sin? x +cosec? x fwF T §7

(@) 2 (b} 18
(¢ 512 (d) 1024
65, aR sinx+cosx=p | oy

3

sin x+c033x=q %, @ pS—Sp

frgoh SUaR 27
@} © (b) -2q
€ 2q (d) 4q

B-ABQB-N-LZS/1A

66. TEHIVG AN TCHOF § o wwae
& form 9 #1
fa) 4
(b) 8
(c) 12
(d) T #FR T

67. 5 ud & Redi din it = e @ T
TG S &I S W €7
fa) O
(b) 4
{c) 8

(d) IR F wE

AT 3 T 2 (2) T B o
ABCD U wueid ¥, fed AB, CD & &= &

WA dife B M, BC %1 mafag R

68, Fefriae o=l w femm $ifse

1. ‘Bym ADM =1 &aed + e
DCM 1 &7%e @9aw ABCD %
fawa & fA-had & T R, TR
AB=CDR?

2. ‘Pne DoM = gEwE + B
ABM 1 49%d ©ed TueE
ABCD ¥ Quwa 3 210 ¥ a2 B

37w Fort § ¥ FR-9/3 el #/87
(a) T 1

(b) ¥ 2

(¢ 132 3F

(d) Hfﬂlﬁ&ﬁiﬁﬁ

[P.T.O,
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69. Consider the following statements ;

1. ‘Area of triangle ADM - Area
of triangle ABM’ is always
equal to area of triangle DCM,
it AB=CD.

2. Half of area of triangle ABM is
equal to one-eighth of area of
trapezium ABCD, if AB=CD.

Which of the above statements
is/are correct?

(@ 1 only
(b} 2 only
{¢/) Both 1 and 2

{d} Neither 1 nor 2

70. ABCD is a parallelogram. P and R

are the midpoints of DC and BC
respectively. The line PR intersects
the diagonal AC at Q. The distance
CQ will be equal to

fa] AC/4

‘(o) BD/3

(c) BD/4

(d) AC/3

71. Consider the following statements in

respect of an equilateral triangle :

1. The altitudes are congruent.

2. The three medians are
congruent.

3, The centroid bisects the
altitude.

B-ABQB-N-LZS/1A
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Which of the above statements are
correct?

{a) 1 and 2 only
{b) 2 and 3 only
{c 1 and 3 only

(d) t,2and 3

72. Consider the following :

ABC and DEF are triangles in a
plane such that AB is parailel to
DE, BC is parallel to EF and CA is
parallel to FD.

Statement—i ;
If angle ABC is a right angle, then
angle DEF is also a right angle.

Statement—I] :

Triangles of the type ABC and DEF
are always congruent.

Which one of the following is correct
in respect of the above statements?

fa) Statement—I and Statement—II
are correct and Statement—II
is the correct explanation of
Statement—I

(b} Statement—! and Statement—II
are correct and Statement—II
is not the correct explanation
of Statement—I|

{c)] Statement—I is correct and
Statement—II is incarrect

(d} Statement—I is incorrect and
Statement—II is correct
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69, Fmfafas st o fmm Hifvw

1. ‘TR ADM ®| dEma - Pam
ABM ¥ &5%q Wed P DCM
% §76d % eURR 8, A AB=CD
21

2. @ ABM F1 amm ga FHE
ABCD % &%d & amed fedt &
a3, Ak AB= CDRI

I Pl B/ wd g
() a9 1

(b) * 2

o) 132N

d) 3@ aMad2

70. ABCD & @ WS #1 P ¥R R
FAm: DC 3 BC & mwfeg §1 T
PR, fd AC | Q W TR=ofRe wAl
21 &0t Cco frad sTet enfi?
(@) AC/[4
(b) BD/3
() BD/4

{d) AC/3

71, & wag B & sl ¥ Pmfole
Tl W R Fift

1. i< gatmen 24§l
2. o s watmem dkt €
3. ¥uw, Mdos 9 fawnfim s R

B~-ABQB-N-LZS/1A

I Tl § & H-R T B
(o) ¥ 132
() Faw 233
) ¥ 13K 3
@ 1,233

72, Frfafen w famr i

& WHdel 4 ABC @4 DEF 36 W&R &
e £ 7% AB, DE & wurm 3; BC,
EF % ¥R § 3 CA, FD & ®qwm
]

HEA-] :

IR FM ABC TH wHET 2, q HW
DEF +ft t% gwaivm 3|

-]

ABC 7 DEF 3% fn@ adw waimm
a2l

IEF Fo & v § Pefefee 4 @
FH-| F W 7

faf FE=1 4 FE-I FO ¥ a0
FA-11, Faa=1 &) T AT B

(b) @-1 & #¥E-1 WH & W
wyA-11, HUE-1 h T8 sremn @l

2
(c) HYA-1 T & a9 FoE-11 e 2

(d) FE-1TEE R A w1 T R

. 4 (P30
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73. Let the incircle to a triangle ABC Which one of the following is correct

touch BC, AC and AB respectively in respect of the above statements?
at the points X, ¥ and 2.

Statement—I :

If AB> BC, then (a) Statement—I and Statement—II
AB+ AZ <« BC+ XC are correct and Statement—II
is the correct explanation of

Statement—II ; Statement—!

AZ = AY

Which one of the following is correct (b) Statement—I and Statement—II

in respect of the above statements? - arc correct and Statement—II
is not the correct explanation

fa) Statement—I and Statement—II of Statement—I

are correct and Statement—II
is the correct explanation of

Statement—I {c) Statement—I is correct and

Statement—I[ is incorrect

[b} Statement—I and Statement—I!
are correct and Statement—II .
is not the correct explanation (d) Statement—I is incorrect and
of Statement—I Statement—II is correct

{c) Statement—I is correct and

Statement—II is incorrect '
75. Bisectors of two adjacent angles

A and B of a quadrilateral ABCD

(d) Statement—I is incorrect and intersect each other at a point P.
Statement—II is correct Which one of the following is
correct?

74. Let ABC be a triangle in which .
ZACB=60° and AC=x< BC Let {a) 2£APB= /C+ £D
the circle with centre at C and
radius x meet BC at D. Let CF

be the perpendicular drawn from
C meeting AD at F. (b} ZAPB=<£C+ 4D

Statement—I :

Triangle ACD is isosceles but not () ZAPB=180°~(ZA+ LB
equilateral.

Statement—II
DF = x /2 (d) ZAPB=180°-(LC+ £D)

B-ABQB-N-LZS/1A 26
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73. 4R & &5 w Bye ABC W w=gw
BC, AC 3R AB® FW: X, Y 3t Z
fagatt w wrst e B

HYA-[

Ifz AB> BC, T

AB+ AZ < BC+ XC

UL gl

AZ = AY

IEe Fudl & g 4 Ferffed ® &
FA-T1 T W RY

{a}

(b)

(c)
d)

FF-I § FE-11 oo B AW
FA-11, F-1 N 78 =mEn 2

F-1 9 wuA-Il EE B oW
HYFE-11, TUA-1 H T =mE qE

3
FUA-] TA ¥ U7 F9a-11 7 &

FYA-1 T & AN F99-11 g4 &

74. 7 wife fF ABC @ Py ¥ fomed
ZACB=60° ¥R AC=x < BC &l AR
#fm % =2 39 Rmw 3= C an
et = x %, BC# D R fieman ®1
ur e i cF, ¢ @ & o 8
A ADF F R fiver B

HwYF=-] :
fiyw ACD wfTg & W wwaTg A R

FA-11 2

DF=x/2

B-ABQB-N-LZS/1A

27

e e & med § fefafaa 4 4
 HH-H T T R

@ FE-1 3 FE-1I §H & aw
FI-11, FUA-1 A o e

(b) FR-1 T FWE-I G E AU
HuA-1l, FyI-I H T e @0

2

() FUA-T et R qo FYA-I[ T ¢

[d) -1 T o FeA-11 9§

75. IS ABCD & @ 3n@F Fi A 3R B
F orm wWm #® B oPw
Tafa w@ §) foafefaa § @ #9-w
TF w87

fa) 2£APB=/ZC+ 4D

(b) ZAPB=/C+/D

{c) ZAPB=180° -(LA+£B)

{dj ZAPB=180° ~-(£C+ 4£LD)

2| P.T.0.
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76. In a triangle ABC, AD is the median

through A and E is the midpeint
of AD, and BE produced meets
AC at F, Then AF is equal to

fa) Aé/5 b) AC/4

fc) AC/3 {d) AC/2

77. Three straight lines &are drawn

through the three vertices of a
triangle ABC, the line through each
vertex being parallel to the opposite
side. The triangle DEF is bounded
by these parallel lines. Consider the

following statements in respect of
the triangle DEF :

1. Each side of triangle DEF is
double the side of triangle ABC
to which it is parallel.

2. Area of triangle DEF is four
times the area of triangle ABC.

Which of the above statements
is/are correct?

fa} 1 only
fb) 2 only
{c) . Both 1 and 2

{d) Neither 1 nor 2

78. Let ABCD be a parallelogram. Let

X and Y be the midpoints of the
sides BC and AD respectively. Let
M and N be the midpoints of the
sides AB and CD respectively.
Consider the following statements :

1. The straight line MX cannot be
parallel to YN.

2. The straight lines AC, BD, XY
and MN meet at a point.

B-ABQB-N-LZS/1A

Which of the above statements
is/are correct?

fa} 1 only

{b) 2 only

fc/ Both 1 and 2
{d} Neither 1 nor 2

79. The chord of an arc of a circle is of

length x, the height of the arc is y
and the radius of the circle is z
Which one of the following is
correct?

() ylz-y=x?
b ylz-y)=4x
(c) 2y@z-y=x*
(d) 4yfz-y=x?

80. In a triangle ABC, £B=2£C=2£A.

What is the ratio of AC to AB?
@ ¥2:1 () +3:1
¢ 1:1 d) 1:42

81. What is the maximum distance

between two peints of a cube of
side 2 cm?

fa) <3 cm
(b} 2¥3 em
fc) 443 em
(d) 242 cm

82. The areas of the three adjacent faces

of a cuboidal box are x, 4x and
9x square unit. What is the volume
of the box?

(@ 6x? cubic unit

(b} 6x3/2 cubic unit
tc) 3x3/2 cubic unit
(d) 2x3/? cubic unit
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76. Ts ABCH AD, A ® st g mitye §

iR E, AD % mafeg & 9N BE 1
R ACH FR et 81 AF fress aoe
¥7

fa) AC/S b} AC/4

(¢} AC/3 (d) AC/2

77. @ @ ABC ¥ 9 el } €7 w@

e dit It 81 v o @ e g

@ o TgE @ o ) e

DEF @ wot t@wei & vies ¥ fe

DEF % w= & fraferfen werl o fmm

Hifo

1. DEF & weaF g, f
ABC # 30 w1 i AT ; Frek
T2 T 2

2. P DEF % dwwm, By ABC
¥ {56 T AR B

I F A |/ AR-6/R e R/R
(a} e 1

(b) Fa9 2

(¢) 13 23R

d da1mAd2

78. W T 5 ABCD T T T 8

1M ol & X s Y s yansit BC
3R AD ¥ meafrg & wn M 3R N wE
Wist AB st CD ¥ wafag R
Pl wul m frem i -

. T W@ MX, YN ¥ ao=n T R
el

2, W& @M AC, BD, XYS MN TF
farg  firereht &1

B-ABQB-N-LZS/1A

T FoA # A wA-G1/0 7 2 /E
(@) FaF 1

(b) ¥ 2

(c) 13K 23

d 1o

79. 3 $ foefl wma i < A T 1R

TR I g3 A B
frafafa © & F3-m & @ ¥?

(@) y2z-y)= x>
() y@Rz-y=4x>
() 2yRz-y =x?
(d) 4yRz-y=x

80. W fnw ABC # sB=2C=2/A

ACH! ABR 4% #0 87

fa) ~N7:1 (b J3:1
g 1:1 (@ 1:42
81, 2 cm ¥ T Rl W ¥ @ Rrged &

9 it 3 ferdt 47

@) 3 cm

(b} 2J3 cm

) 43 cm

(d 2J2 cm

82. & &K 8 & fF ¥Ea wa& &

%‘:"Fﬁx, 4xﬁﬂ19xﬁ"fﬁ’;§§lﬁﬁ
HT 3T 187

(@) 6x? o s

B 6x5/2 w
e/ 3x3/2 o g
{d) 2x3/2 & 5o

[P.T.O.
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83. A cylinder circumscribes a sphere.
What is the ratio of volume of the
sphere to that of the cylinder?

and legs in t

For the next three (3) items that follow :
A right triangle having hypotenuse 25 cm

he ratio 3 : 4 is made to revolve

about its hypotenuse. (n =3-14})

faj 2:3

(b} 1 .9 87. What
cone

fc) 3:4 (@)

(d) 3:2 ()
(c)

84. If for a triangle the radius of the (d)
circumcircle is double the radius of
the inscribed circle, then which one 88. What

of the following is correct?

{a) The triangle is right angled ?:}

)
(b The triangle is isosceles (c)
fe} The triangle is equilateral (d)

(d) None of the above

For the next two (2) items that follow :

A toy is in the form of a cone mounted on
the hemisphere with the same radius. The
diameter of the base of the conical portion
is 12 cm and its height is 8 cm.

is the volume of the double
so formed?

3124 em?3
3424 cm3
3768 cm*
3924 cm?

is the surface area of the

double cone so formed?

11012 em?
11114 ¢cm?2
13104 cm2

2

89. Consider the following statements :
1. The

volume of the cone
generated when the triangle is
made to revolve about its
longer leg is same as the
volume of the cone generated
when the triangle is made to
revolve about its shorter leg,

B5. What is the total surface area of the

toy?

(@) 1327 cm?
(b) 1121 cm?
(c) 96m cm?

(d] 66n cm?

86. What is the volume of the toy?
{a) 180n cm?3
(b) 240n cm?
(c) 300m cm?

(d) 320m cm?3

B-ABQB-N-L2S/1A
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2. The sum of the volume of the
cone generated when the
triangle is made to revolve
about its longer leg and the
volume of the cone generated
when the triangle is made to
revolve about its shorter leg is
equal to the volume of the
double cone generated when
the triangle is made to revolve
about its hypotenuse.

Which of the above statements
is/are correct?

fa) 1 only

{b) 2 only

f¢g Both 1 and 2
{d) Neither 1 nor 2
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83. W o fdt miew # giod w20

MNaE F A0 & dod F 9G d

I 3R I i (3) W F o

v T B =), fegs #9125 om ¥ 7
3:4 % 3TE B §, AW w0 & uig: v
& F@T 2| (=3 14)

87. w =R Pl favig +1 e w0 27

84. 7R feft T & forw 5@ P & wiegw
# B e s=dd ) fwen § g
R, ot FraforRew # @ #F-w & wdl &7

" {a) ﬁgammi'
(b) By wuferg 3
() et g &
(d) 3T T A B

I 3 TR 2 (2) vt * fo

@ flgd & e w amdfie oom B &
T Wig & &9 A | Yiehd W H YR B AW
12 cm ? T 0 F97% 8 em B

85. el & g gy awwa w1 87
fa) 132 cm?
(b) 112n cm?
fc) 96m cm?
(d) 66n cm?

86. Radi F 3ga 1 27

(@) 1801 cm?®
(b) 240n cm?®
(¢) 300m em3
(d} 320m cm?

B-ABQB-N-LZS/1A

@) 3124 cm?
(b} 3424 cm?
{¢/ 3768 em?
{d 3924 em?®

88. @ wan il fivs =1 g &awa T

1

{a) 11012 em?
() 11114 cm?
() 13104 cm?
(d) 13188 cm?

89. fmfafigd wuAl w foam Hifdw

1. o ach = & ofm B W
ofgrqnr &R 8 FRa 9% W
e, B et ¥ & afte: By
H» i =W 8 9 9F &
T % GAE 2

2. ¥ FEt y= & ufm: i N
UGN A B AN IE & ST
T B At e & afw: P =
piiez i ETc RS ERlE I L
= am, = F of@: B &
ofEm wH A IFa R &
A & TR 2

e wA A @ wv-ar/A wdl §/R7
(0} T 1

(b) a2
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For the next three (3) items that follow :

A piece of land is in the form of a
parallelogram and the perimeter of the land
is 86 m. The length of one side exceeds
the other by 13 m and one of the diagonals
is 41 m. https://‘www.pyqonline.com

90, What is the area of the
parallelogram?

Which of the above statements
is/are correct?

{a) 1 only
(b} 2 only
fcg Both 1 and 2

(d) Neither 1 nor 2

93. If one of the roots of the eguation

faj 63 m?
!{b) 96 ITI.2
fe) 126 m?

([d) 252 m?

91. What is the shorter height of the
parallelogram?

px? +gx+71=0is three times the

other, then which one of the
following relations is correct?

(a] 3g* =16pr
(b} g* =24pr

() p=q+r

(dj p+g+r=1

94, If the radius of a circle is increased

() 90 m

(b) 75 m

fc/ 55 m

(d} 45m

by 6%, then its area will increase by
{a) 6%

(b] 9%

(c) 12:36%

{d) 1664%

95. The class which has maximum

92. Consider the following statements :

1. The difference between the
diagonals of the parallelogram
is more than 20 m.

2. The difference between the
heights of the parallelogram is
more than 10 m.

B-ABQB-N-LZS/1A 32

frequency is known as
(a) median class

b} mean class

(c) modal class

(d) None of the above
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A R TR A (3) e & R

UH @S T TP F F9 7 ] of yEme =
U 86 m }1 UF A A FmE, @l 4= @
13m A& & a4 36% ws @l ) =8 41 m
2

90, TR F 1 S 70 R?
(@) 63 m?
{6} 96 m?
() 126 m?

{d) 252 m*

91. T =gy R BN aredt = w7 ¥
(@ 90 m
b) 75 m
fc) S5 m

{d] 45 m

92. fifofaa +oEt ot fmm it

1. wwR 9 ¥ Pl d 2om @
IR I A B

2. TR Igye H Swigal d 10 m @

TG W IRE B

B-ABQB-N-LZS/1A
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s Hul o @ FR-T/E wd 8/
(@) Fad i

(b] F 2

(c) 132

d @1 dAad2

93. I wHllEw px2+qx+r=0 * Tﬁ'ﬁ

Il m@M@R MR @
fafafias 4 @ #7-w1 & T w7

(@ 3q° =16pr
b) q* =24pr

{c) p=q+r

d prg+r=1

94, R frdt qu i Bow B 6% W@ B

S, d IGF GAGH o g Smem?
(a) 6%

(b) 9%

fc) 12:36%

([d) 16:64%

95, aiftrran AroERE AT T # = FEd 57

(a) wiferE @
(b) W

(c) gTs T
(d) 39gH 4 4 & T

[P.T.O.
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96. Consider the following statements

related to cumulative {requency
polygon of a frequency distribution,
the frequencies being cumulated
from the lower end of the range :

1. The cumulative frequency
pelygon gives an equivalent
representation of frequency
distribution table.

2. The cumulative frequency
polygon is a closed polygon
with one horizontal and one
vertical side. The other sides
have non-negative slope.

Which of the above statements
is/are correct?

(@) 1 only
{b) 2 only
{c/ Both 1 and 2

{d) Neither 1 nor 2

97. Consider the following data :

1. Number of complaints lodged
due to road accidents in a
State within a year for
5 consecutive years

2. Budgetary allocation of the
total available funds to the
various items of expenditure

Which of the above data is/are
suitable for representation of a pie
diagram?

fa) 1 only
(b} 2 only
fc/) Both 1 and 2

(d) Neither 1 nor 2

B-ABQB-N-LZS/1A
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98. When we take class

intervals
on the x-axis and corresponding
frequencies on the yaxis, and
draw rectangles with the areas
proportional to the frequencies of
the respective class intervals, the
graph so obtained is called

fa) bar diagram
fb) frequency curve
[‘c) ogive

(d) None of the above

99. If x;’s are the midpoints of the class

intervals of grouped data, f;'s are
the corresponding frequencies and
X is the mean, then what is
% fi(x; - %) equal to?

{a) O

(b] -1

(c) 1

(d 2

100. Ten observations 6, 14, 15, 17, x + 1,

2x - 13, 30, 32, 34, 43 are written in
ascending order. The median of the
data is 24. What is the value of x?

(@) 15
b) 18
(c/ 20

(d} 24
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) -1

(e 1

(d) 2

100. TH %4W 6, 14, 15, 17, x+1, 2x- 13,

30, 32, 34, 43 S 9 # for@ M
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fa) 15

(b) 18
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Note : English version of the instructions is printed on the front cover of this Booklet,
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